FR26FE IRBRRBY>T05T)\L—R—

OIBAERE —J#; (2 5811y Ay F. 1—2FN)

1 7

Ba17

1 .25-23 0

/

Ad—
0 11-25 1

1.25-11 0

\

N

2 IKEZ1 7B

1 KB —

0 19-25 1

-/

BOd—

1 25-20 0

3 TLAFER

A

1.25-11 0

:\

AR

e
_L

Obh—F AT b (3Y MY F, 258231 —XBND, £ZL3TY MEEF10-100BRY— K, 1—XEFN)

3 B>

LR ARE BFHEEE
Ad—b [B7F]
g | F—A% |set B set| F—L% | & #H
1 |EEsa=r 23 - 25| 1 |KES1=7B|CLXFEX
2 |IEEZ1=77B 27 - 29 TLAFAX | R 120
3 | ELRFER 25 - 11| 0 |E@>a1=7 |xE>1=7B
wR F—LB B & B8R | KR BKRRE B
1 |@g>a=7 02| 34 50 -16 3
2 |IXET1=7B 1| 52 52 0 2
3 | ELRFE% 2 | 0| 54 38 16 1
BO— bk [5BF]
g | F—A% |set B set| F—L% | & H#H
1 |Esa=7Al 1 25 - 19 EMOA>OR | BV
2 B DR 25 - 20 v >0 | keEsa1=7A
3| B8v>4 |0 |10 - 25 RS A |STA DX
wR F—LB (B & B8R | KR BKRaRE B
1 |gEsa=7A 2 | 0| 50 29 21 1
2 \BMUASIR 1| 44 45 -1 2
3 B@v>4 |0]2] 30 50 -20 3

S| ELRFRE
25-16
2 0
B A>T R 20722
23-25
0 2
17-25
mE>a1=)
0%&62 B B KEZa1Z7BFA
17-25 - p—
- HEBRS L AFA%
E3 i
025 N IREE= 1 —J758BFB
Liv
01&%2 [lizp =5 R4
I¥EE< 1 = 7B o 18-25 )
21-25 _
5 “&E:/JZTA XN
GO A TR
25-19
2 0

B IBT 21




FR26FE IRBRRBY>T05T)\L—R—

OIBAERE —J#; (2 5811y Ay F. 1—2FN)

1

0 22-25 1

Cad—

1 .25-15 0

mE>1=7

1 25-14 0

e\

0 20-25 1

/

1 25-3

DO—

3 B>

IR —

1.25-8 0

1\

0

2 JKEILEFX

Obh—F AT b (3Y MY F, 258231 —XBND, £ZL3TY MEEF10-100BRY— K, 1—XEFN)

3 RU—=LJ\—

LR ARE TFHEEE
Ca—bk [&F]
g | F—A% |set (SIS set| F—L%  #F #H
1 |@'>2=7 1|25 - 22 a1y By
2 |AIX2a=) 25 - 15 B> |mEza=r
3 Bv>4o | 014 - 25 [izy=3 e By =1 55> e By 4
"R F—L% B B R | KR BRRE B
1 | @EE>a2=7|2 |0 50 36 14 1
2 |81 F 1 47 40 7 2
3| Bv>s (02 29 50 -21 3
DO— bk [&F]
g | F—A% |set (SIS set| F—L% #F #H
1 |KE>2=7] 1|25 - 20 KEILEF X | RU—L)\=Y
2 KEBILEFXR 25 - 8 RU—LN\—Y | IKEZ 1 =T
3 RU—s/\=v| 0|3 - 25 K= =77 | /KEBILEF X
wR F—LB (B & B8R | KR BKRaRE B
1 |[IKEZ3=7|2 |0 50 23 27 1
2 |KEILEFR 1 45 33 12 2
3 |RU=LJ\=Y | 0 |2 11 50 -39 3

S| mBEZa1ZF
25-11
o 1 20-25 2
IKEBILEF R 23-25
25-19
2 0
25-8
B>
. 15-25 , B B KRE1=7
19-25 S
ey #EE | KEJILEFXR
13-25 =M1 Ej{jz\)l:y
° 13-25 ? EREAT
AR o,
11-25
/\/tﬁ
S| KEZa -
B> 13-25
2 25-21 1
RU— s \—y 2




